mAST) b
43 50
27 43
70 13
41 97
27 15
41 18
31 82
89 40
28 37
41 82
43 92
91 53
70 16
62 47
75 32
58 13
20 96
57 13
63 89
41 69
52 68
89 71
37 60
86 25
21 57
92 64
36 82
23 34
98 65
67 52

10REREE —2HT=24T

1 3,756 = 72 =
2 /, 59735 < 59 =
3 /80 = L6 =
4 2,583 = 63 =
5 430 = 70 =
6 /4T 6 36 =
7 /45T 47 =
8 VAVACWAR /S =
9 /. 5/ 2 - sS4 =
10 L,/ 73 = 53 =
11 774 /& =
12 4,/86 = 446 =
13 /750 = AT
14 5§68 = /4=
15 4,800 = &4 =
16 L, 3RO = 40 =
17 /620 = &/ =
18 2,793 = 49 =
19 3,402 = sS4 =
20 /,/ 07 = L7 =
21 7858 = /7 =
22 4,628 = 5L =
23 ‘44 = /L=
24 L2/ 4 = 49 =
25 /029 = 49 =
26 2,852 = S/ =
27 /,800 = S50 =
28 /7 RS - 75 =
29 3,3 3L = sS4 =
30 738 = /4=

F1(1~10)

g2/ L)L

31 &00 /6
32 60X A
33 bXY 748
4 2,3LE8 LY
3|  /,L48 &3
6| /, 026 57
31 4,700 50
8| /,000 25
9| 2,404 7L
40| 7,350 70
41 &,004 &7
2 /,537 L7
43 LY S
4| /7856 S&
45| 2,580 70
46 &7/ &7
47| 4,320 45
8| /,//& &6
49| L,408 7R
50| 2,622 S8
51| 2,70 40
52| 3,085 43
53| 5,340 &9
54 SLS /3
55| L,05X2 34
56| 3,7/ 58
57| 7,462 7/
58 b6/ R /&
59 2,054 47
60 5,076 7&




